EEMERFKNS 17 2
kA o

Ei{ﬁ mm

500
125 280 95
D10
aroy—~t7ovy 50 o
T20% 150 % 600 1, 380 I g
. 2
2 B 1’ =
= ——— | ; SIS
N \ 1 i
8 ESBER ! !
!
<) | 1
e) | | =
_—l g
_ ! 8By
PasER T
o 4&50
o 5
120 30
e o F:::— ; 2
i i i == ?z
g
T JF
115 30 |85
4550
LS A BEEE (ko)
% -7 57
ol 1} 50
IR B 74
AR .
T &6 4 50 88

115 0 ® FREB{RILE e

#5 = o #4
N =

420
600

\\\/

/
\
90

~—

10
35

150
- ey 2L
400

]
1
1
i
i
s !
>
340
290
]
r— |
-
7
@g
=D
O
<

Q231Im 2|0 ] 28 _—
28,4 5,20 D05 LB < ' Pa——
50 #450 50 "
Ml - M
#550 =
5 p440 55 60 430 50

Ko ou—rIggtau

— 147 —




